INTERNATIONAL TRADE TOPICS AND SELECTED TEST QUESTIONS

RICARDIAN THEORY
1. Assumptions underlying the basic Ricardian theory

2. Topics of importance

    a. Labor theory of value

    b. Absolute advantage

    c. Comparative advantage

    d. Mercantilist's views on free trade

    e. Problems with the Ricardian model

    f. Gains from trade

    g. Direction of trade

    h. World terms of trade

    i.  Domestic terms of trade given autarky

    j.  Comparative advantage with money

HABERLER'S OPPORTUNITY COST THEORY OF TRADE
1. Assumptions underlying the opportunity cost theory of trade

2. Topics of interest

    a. Equilibrium given autarky

    b. Equilibrium given free trade

    c. Community indifference curves

        i. The marginal rate of substitution between commodities

       ii. The compensation principle

    d. Production possibility frontier

       i. The marginal rate of transformation

      ii. The Edgeworth Box diagram and derivation of the PPC

    e. The Edgeworth Box

       i. The contract curve

      ii. Why the contract curve cannot cross the diagonal

     iii. Pareto efficiency

     iv. Factor intensity

      v. Isoquants and the marginal rate of technical substitution

    f. General equilibrium conditions given autarky

       i. DTOT = MRSxy = MRTxy
      ii. MRTSkl for good X = MRTSkl for good Y = r/w

     iii. Graphical depiction

    g. General equilibrium conditions given free trade

    h. World terms of trade

    i.  Domestic terms of trade

    j.  Properties of CRS production functions

    k. Tariff analysis for the small country case

OFFER CURVES - TRADE BETWEEN LARGE COUNTRIES
1. Topics of interest

    a. Derivation using PPC and via trade indifference curves

    b. Interpretation

    c. Elasticity

    d. Why the offer curve bends back toward the import commodity

    e. Why the offer curve monotonically increases toward the import commodity

    f.  Volume of trade

    g. Equilibrium

    h. Tariff analysis including the optimum tariff

    i.  The Metzler paradox

HECKSCHER-OHLIN THEORY

1. Assumptions underlying the H-O model

2. Topics of interest

    a. Factor abundance (the Leontif and Ohlin definitions)

    b. Factor intensity

    c. H-O theorem

        i. The direction of trade

    d. Factor Price Equalization theorem (H-O-S theorem)

        i. Absolute and relative input price equalization

    e. General equilibrium framework

    f. Leontif paradox

    g. Stolpher-Samuelson theorem

TARIFFS AND QUOTAS AND OTHER MEANS OF PROTECTIONISM
1. General equilibrium effects of a tariff

    a. Small country case using the PPC analysis

    b. Large country case using offer curves

        i. Metzler paradox

2. Partial equilibrium effects of a tariff

3. Partial equilibrium effects of a quota

4. Subsidies

5. Multiple exchange rates

6. Health and safety standards

7. Other regulations

8. Arguments for protectionism

    a. National defense

    b. Infant industry

    c. Protection from unfair foreign competition

    d. Loss of domestic jobs

    e. Tariff revenue to finance government projects

    f. To correct BOT or capital account imbalances

HISTORY OF PROTECTIONISM FOR THE UNITED STATES
1. Topics of interest

    a. Smoot-Hawley Tariff Act of 1930

    b. Buy American Act of 1933

    c. Trade Agreement Act of 1934

        i. Peril point provision, the escape and national security clauses

    d. General Agreement on Trade and Tariffs -- 1947

    e. Trade Expansion Act of 1962

    f. Kennedy Round 1967

    g. Trade Reform Act of 1974 and the Tokyo Round

INTERNATIONAL TRADE  QUESTIONS TO CONTEMPLATE
1. Describe the labor theory of value and the problems associated with the theory.

2. What was the basis for trade and the pattern of trade according to:

    a. Adam Smith

    b. Ricardo

    c. Haberler

    d. Heckscher-Ohlin

3. Compare and contrast the assumptions underlying the Ricardian, Haberler and Heckscher-Ohlin     models of international trade.

4. What were the mercantilists' views on trade? How do they relate to current proponents of        protectionism?

5. Given the following table:

                                                                          U.S.          U.K.

                   wheat (bushels/man-hours)              ____         ____

                   cloth (yards/man-hours)                  ____         ____

    a. Fill in the table such that the U.S. has an absolute advantage in the production of both               goods and a comparative advantage in the production of wheat.

      Questions b. through f. are determined by your answer to a.

      b. What are the DTOT for each country in terms of wheat?

      c. What range would encompass the WTOT?

      d. Suppose the wage rate in the U.S. is $2 and the wage rate in the U.K. is 4 pounds. What         is the range of exchange rates that would allow the U.S. to export wheat to the U.K. and the U.K. to export cloth to the U.S.?

    e. What is the gain for the U.S. if trade takes place at the U.S. DTOT and the U.S. exports            3 units of wheat?

    f. What is the gain for the U.K. if trade takes place at the U.S. DTOT and the U.K. exports            4 units of cloth?

6. Review the general equilibrium conditions under autarky and given free trade using the            opportunity cost theory of trade.

7. Using a PPC which exhibits increasing relative costs, show:

    (assume incomplete specialization with trade)

    a. The gains from trade from production and specialization

    b. The amount exported

    c. The amount imported

    d. What represents the WTOT

    e. What represents the DTOT given autarky

    f. The production point given trade and given autarky

    g. The consumption point given trade

    h. What represents the production possibilities curve

    i.  What represents the consumption possibilities curve

8. If U(x,y) = xya, what is the MRSxy? Is U homogeneous?

9. In reference to the Edgeworth Bowley box diagram: 

   (Assume that the production functions are homogeneous of degree one)

    a. Show that the contract curve cannot cross the diagonal

    b. Demonstrate that the points on the contract curve are Pareto optimal

10. a. Derive a country's offer curve using its PPC.

     b. Derive a country's offer curve via its trade indifference curves.

11. Draw the offer curves for two nations that trade. Draw the curves such that the equilibrium        solution is stable and unique. Questions a through d refer to your graph.

     a. Which good does each country import and export?

     b. What is the WTOT at equilibrium?

     c. What is the volume of trade?

   d. If the WTOT is greater than the equilibrium WTOT, what forces will get the system back           to equilibrium?

12. Explain graphically why the offer curves must rise monotonically toward their import axis.

13. Explain why offer curves bend back toward their import axis.

14. State the H-O theorem.

      a. What is the Leontif paradox in reference to the H-O theorem?

      b. What was Ohlin rebuttal of the Leontif paradox?

      c. How could the Leontif paradox occur given that the H-O theorem hold?

15. State the Ohlin and Leontif definitions of factor abundance. When do the definitions differ        and why?

16. State the Factor Price Equalization theorem.

      a. Prove the theorem heuristically for the relative case.

17. What is the Stolpher-Samuelson theorem?

      a. Provide an intuitive explanation of the theorem.

      b. When would the theorem be invalid and why?

18. Review the arguments for trade protection. Comment on the arguments.

19. Discuss the general equilibrium effects of a tariff imposed on an import good by a small          country. Show a graph.

20. Discuss the general equilibrium effects of a tariff imposed on an import good by a large          country. Show a graph.

21. a. Discuss the partial equilibrium effects of a tariff and a quota. How might they differ?

     b. Would the steel union prefer a quota or a tariff and why?

22. Excluding tariffs and quotas, review other protectionist devices. What are they and how do        they work?

23. Briefly highlight the main points of the following acts:

     a. The Smoot-Hawley Tariff Act of 1930

     b. Buy American Act of 1933

     c. Trade Act of 1934

     d. GATT

     e. Trade Expansion Act of 1962 and the Kennedy Round

     f. The Trade Reform Act of 1974 and the Tokyo Round
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Carnegie Mellon, October 12, 1994

Questions 1 and 2 account for 40 minutes of the test.

1. Evaluate and critically examine the pros and cons of the Uruguay Round of GATT.  With reference to GATT, from September 1994 to the present, comment on the political momentum and maneuvering in the U.S. Your essay should include arguments given in but not limited to the following articles authored by Bhagwati and Kosters; William Lash III; Claude Barfield; the Office of the U.S. Trade Representative; Joe Cobb; Bryan Rile; and various WSJ contributors. 

2. Japanese-U.S. trade relations seem to be on a collision course.  Sum up the recent trade complaints by the U.S. and Japan.  What resolutions have been proposed?  What is the current status of the negotiations?  Who are the key players in resolving the trade dispute?  Refer to articles by William Lash III,  WSJ contributors, etc. 

3. Examine the partial equilibrium effects of free trade in the steel market of a small developing nation. What would be the consequences of imposing a tariff on steel? (13 minutes)

4. Assume we have a two nation (CMU and SVC) and a two good (X and Y) world.  CMU and SVC both have linear production possibility frontiers.  For CMU:  Y = 10 - 4X and for SVC: Y = 10 - 3X.  Assume both have identical tastes. (15 minutes)

a. Graph both countries' production possibility curves (put X on the horizontal axis).

b. Show the autarky production and consumption points (assume both X and Y are consumed).  What is the rule to maximize social welfare?

c. Now assume we have free trade between CMU and SVC.  The WTOT will be somewhere between what numerical values? Graphically show for CMU and SVC the after trade consumption and production points.  What is the rule to maximize social welfare?  What is the rule to maximize the value of production?  Show the amount of export and import for CMU and SVC.

5. Graphically derive the offer curve for CMU in problem 4. (6 minutes)

6. From problem 4., why would the intersection of CMU's and SVC's offer curves give us a Pareto Efficient solution?  (Hint: Define PE and incorporate in your explanation the appropriate contract curve--think about the Meade derivation.)  (6 minutes)
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Carnegie Mellon, October 12, 1995

Questions 1 and 2 account for 40 minutes of the test.

1. Evaluate the Clinton administration’s recent (1995) trade negotiations with South Korea, Japan, and China.  What are the key points of disagreement?  What resolutions have been proposed?  What is the current status of the negotiations?  Who are the key players in resolving the trade dispute?  Is there momentum toward free trade?  Are trade policies consistent with the WTO agreement?  Incorporate articles by Bryan T. Johnson, Robert O’Quinn, Anne Krueger, Dexter Baker, Stanley Kober, Bryan Riley, the AEI article: “Do Sanctions Work?...,” and recent WSJ articles.

2. Are bilateral trade negotiations superior to multilateral negotiations?  Include in your discussion points that address the topic of Free Trade Areas.  Do not repeat points relevant to question 2 that are already stated in question 1. 

3. Assume we have a two nation (CMU and SVC) and a two good (X and Y) world.  CMU and SVC both have Production Possibility Frontiers that exhibit increasing relative costs.  CMU’s inputs favor the production of good Y and CMU can produce more of good Y than SVC when all inputs are devoted to producing Y.  SVC, however, can produce more of good X than CMU when all inputs are devoted to producing X.   Assume both have identical tastes. (16 minutes)

a. Graph CMU’s and SVC’s production possibility curves (put X on the horizontal axis).

b. Show the autarky production and consumption points (assume both SVC and CMU are able to obtain the same level utility in autarky).  Given trade is not allowed, what is the rule to maximize social welfare?  Who has the comparative advantage in X (justify your answer)?

c. Now assume we have free trade between CMU and SVC.  The WTOT will be somewhere between what values?  Draw the WTOT line such that with trade both CMU and SVC consume the same amount of X and Y.  Label the consumption point and the production points for CMU and SVC.  What is the rule to maximize social welfare?  What is the rule to maximize the value of production?  Show the amount of export and import for CMU and SVC.

4. Using CMU’s and SVC’s offer curves that intersect once in the elastic regions of the offer curves, show that the equilibrium WTOT is stable.  (8 minutes)

5. Using the Meade derivation, graphically derive the offer curve for a production possibility frontier that exhibits constant relative costs (linear PPF).  (Hint: Draw the trade indifference curves in the first quadrant and the PPF and indifference curves in the second quadrant.) 

A. Assume preferences are convex.  (4 minutes)

B. Assume preferences are right angled (Hints: perfect complements, draw a ray from the origin and place the corner of the indifference curves on the ray). (4 minutes)

6. Assume we have a two good world.  Given that the import good is an inferior good and that the production and substitution effects dominate the income effect, demonstrate that the offer curve will rise monotonically with respect to the import axis. (Hint use the PPF and two different WTOT lines).  (8 minutes)
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1. What is Clinton’s global trade policy?  Include in your essay a discussion of the concepts of “geoeconomic warfare,” political and economic hegemony, and the economic and political ramifications of U.S. trade policies.  Use both WSJ and articles assigned.  You should specifically reference our trade relations with Japan, China, developed countries as a block, Russia, etc.  (20 minutes)

2. What are the political and economic ramifications associated with WTO and NAFTA?  When you answer this question, consider your essay from the U.S. view and also from the perspective of other nations or nations as a block (e.g., the developing nations’ view).  You should discuss the economic conflict between bilateral vs multilateral trade negotiations, the “question of sovereignty,” environmental and labor concerns, and the influence of special interests. (20 min) 

You have your choice of doing question 3a or question 3b. 
3a.  Why are trade deficits and foreign investments politically sensitive issues and perceived to be by some individuals an economic problem?  Now present the counter arguments that are supportive of laissez faire trade policies.  Present examples from the WSJ and assigned articles that support your essay. (15 min)

3b. Assuming convex preferences, demonstrate graphically and explain why offer curves are assumed to rise with respect to the import axis and then explain why offer curves eventually bend back toward the import axis. (15 min)

4. Assume we have a two nation (CMU and SVC) and a two good (X and Y) world.  CMU and SVC both have linear production possibility frontiers.  For CMU:  Y = 10 - 5X and for SVC: 

Y = 6 - 2X.  Use one graph for the following: 

a. Graph both countries' production possibility curves (put X on the horizontal axis). (2 min)

b. What numerically is CMU’s and SVC’s DTOT? (1 min)

c. Assume both CMU and SVC have identical tastes. Adding only one indifference curve to the graph, show the autarky production and consumption points (assume both X and Y are consumed).  What is the rule to maximize social welfare? (3 min)

d. Now assume we have free trade between CMU and SVC.  

I.   The WTOT will be somewhere between what numerical values? (1 min)

ii.  Adding only one WTOT line and one more indifference curve in your graph, show the after trade consumption and production points for CMU and SVC. (3 min) 

iii. What is the rule to maximize social welfare?  (1 min)

iv. What is the rule to maximize the value of production? (1 min)  

v.  Show the amount of export and import for CMU and SVC. (2 min)

 
vi. What perimeters define the trade triangles for CMU and SVC? (2 min)

e. Now draw a new graph and based on CMU’s PPF (Y = 10 - 5X), show the gains from exchange and trade. (4 min)

5.  Given that CMU’s PPF is linear and the information from question 4, derive the offer curve.  Be sure to label the axes and all relevant curves. (5 min)
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October 8, 1996

Questions 1 and 2 account for 40 minutes of the test or 50% of your grade.

1. Evaluate the Clinton administration’s trade negotiations with Japan.  What are the key points of disagreement?  What resolutions have been proposed?  What is the current status of the negotiations?  Who are the key players in resolving trade disputes?  Is there momentum toward free trade?  Are trade policies consistent with the WTO agreement? 

2. What is Clinton’s global trade policy?  Include in your essay a discussion of the concepts of “geoeconomic warfare,” political and economic hegemony, and the economic and political ramifications of U.S. trade policies.  

3. Assume we have two countries (CMU and SVC) with different PPFs which exhibit increasing relative costs.  CMU has an absolute advantage in the production of both goods X and Y, but SVC can still influence market prices when they trade.  CMU residents strongly prefer good X and SVC have a strong preference for good Y.  The social indifference curves are convex.  For questions that ask you to describe points, show them both on your graph and provide a description. (24 minutes)

a. Using only one graph, draw CMU and SVC’s production possibility curves.

b. Show their autarky consumption and production points for both CMU and SVC (show the appropriate indifference curves for CMU and SVC).  

c. Show the DTOT line for both countries.  Who has the comparative advantage in good Y? How do you know your answer is correct?  

d. Draw a possible WTOT line for both CMU and SVC.

e. Show the production and consumption points when free trade is allowed for both countries.

f. Who will export X?

g. What are the trade triangles for CMU and SVC?  

h. Is it possible for the free trade state of SVC to have a higher value of output (GDP) than the autarky state of CMU?   Draw a graph to demonstrate.

I. Is it possible for the free trade state of SVC to have a higher value of output than the free trade state of CMU?  Explain.

j. Suppose CMU prevents trade from changing its production point but allows its citizens to 

to trade at the WTOT.  Is it possible for the residents of SVC to have a higher value of output than the residents of CMU with free trade?  Explain and show a graph.

4. Draw CMU and SVC’s offer curves.   (16 minutes)

a. Show the WTOT equilibrium line and suppose that it is equal to 4 and that it is stable.  

b. Suppose CMU realizes a technical innovation that allows it to supply more of its export good into the market place for any given amount of the import good.  Shift the offer curve and then describe the market forces that result in the change of the WTOT to the new equilibrium value.

c. For question 5b, graphically demonstrate that it is possible for the volume of trade to rise or fall.  Also, explain why the volume can rise or fall.

d. Suppose we now assume that CMU’s indifference curves are linear (perfect substitute case).  Derive CMU’s offer curve using the Meade derivation.

Final
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International Economics

Fall 1994

Questions 1 and 2 have a combined weight of 60 minutes.

1. Evaluate and critically examine the pros and cons of the Uruguay Round of GATT.  Limit your essay to the inclusion of the following topics as they relate to GATT: the issue of national sovereignty, special interest influences, the neoclassical free trade argument, the new IO trade theory argument (see Mussa, Krugman, and McCulloch), multilateral vs trade bloc and bilateral agreements, the loss of tariff revenue, welfare gains, the factor price equalization theorem, government procurement laws, real growth in GDP estimates attributable to GATT, compensation of the losers, and proposed definitions of dumping.  You will lose points if these topics are not addressed. 

2. Critically assess President Clinton's foreign trade policy agenda.  Comment on his trade initiatives (since he became President).  With reference to GATT, from your midterm to the present, comment on U.S. political momentum and maneuvering.  

Technical questions

3. Draw the offer curves for the U.S. and Japan. (2)  Assume there are only two goods:  cars and beef.  The U.S. imports cars.  Suppose the U.S. imposes a 10 percent tariff on cars.  Assume the tariff revenue is redistributed in the form of beef.  Show graphically (assume that Japan's offer curve is elastic in the relevant region of consideration) Place Cars on the horizontal axis.

a. the effect on the volume of trade.  What happens to imports? Exports? (3)

b. the tariff revenue. (1)

c. the tariff. (1)

d. the effect on welfare. (1)

e. the effect on the DTOT. (1)

f. the effect on the WTOT. (1)

g. how large would the tariff have to be to maximize the welfare of the U.S. (1)

Suppose instead the tariff revenue was distributed in the form of cars.  Show graphically

h. the effect on the volume of trade.  What happens to imports? Exports? (1)

i. the tariff revenue.(1)

j. the tariff.  How does it compare to the previous case? (2)

k. the effect on welfare. (1)

l. the effect on the DTOT. (1)

m. the effect on the WTOT. (1)

Assume that Japan's offer curve is inelastic (such that the Meltzer paradox occurs) in the relevant region of consideration and assume that the tariff revenue is redistributed in the form of beef.  Show graphically

n. the effect on the volume of trade.  What happens to imports? Exports? (2)

o. the tariff revenue. (1)

p. the tariff. (1)

q. the effect on welfare. (1)

r. the effect on the DTOT. (1)

s. the effect on the WTOT. (1)

4. Given that an import tariff is imposed, what does the Stopher-Samuelson theorem infer? (3)  

a. Explain intuitively why the theorem holds.  (5)

b. Does the theorem hold in the three cases discussed in question (3.)? (2)

5.  Assume there are two goods: beef and cars (capital intensive) two countries: Japan (capital abundant) and the U.S.: and two inputs: labor and capital.  

a. State and then graphically demonstrate the H-O theorem. (5)

b. According to the H-O theorem, what are the general equilibrium effects associated with free trade?  Be sure to take into account the factor price equalization theorem.  (6)

c. Suppose that the growth of capital is positive and that of labor is zero in the U.S.  According to the Rybczyski theorem, how is production affected (prove your statement via an Edgeworth Box), how is the TOT affected, and how is the level of welfare affected in the U.S.? (7)

6.  What is the Leontief Paradox?   Give one explanation to explain the paradox. (7)

Final 1995, International Trade and Development     Name________________________

(60 minutes for the essays) Choose 2 of the following essays.

1. Cite some recent examples of foreign direct investment.  Is foreign direct investment beneficial to the host country?  What problems (give examples--China, India, Nigeria, etc.--from the WSJ articles) are associated with foreign direct investment? What influence does foreign investment (direct and portfolio) have on the BOP statistics and public attitudes?

2. Summarize and critically analyze the pro and con points of free trade. (See Mussa, Krugman, and McCulloch, Peter Kenen, and WSJ articles.)

3. What is the state of the Mexican economy?  Critically assess NAFTA’s influence on the economies of Mexico and the U.S.?  What events have taken place since December of 1994 to impede NAFTA’s influence?  What was the U.S. role in these events?

Technical Questions:

4. Assume we have two countries: CMU and SVC, two goods: X and Y, and two inputs: K and L.  Assume further that the H-O assumptions hold.  X is the labor intensive good. CMU is capital abundant.  If free trade takes place,   (35 minutes)

A. what will be the pattern of trade?

B. what will happen to absolute and relative the relative input prices in CMU and SVC (intuitively explain your answer)?  What is the relevant theorem called for this question?

C. what will be the effect of trade on the distribution of income in CMU (explain your answer intuitively => you need not prove the Euler Theorem)?

D. If CMU is large and places a tariff on its import good and spends the tariff on good Y, what are the general equilibrium effects (i.e., tariff rate, tariff revenue, volume of trade, affect on input prices, TOT, welfare, domestic production), etc.)?  (Assume the Meltzer Paradox does not occur and explain your answer graphically using offer curves.)  Does the Stolpher-Samuelson theorem hold (explain)?   

E. Draw the case of the optimal tariff for CMU.  

Now assume that growth takes place in CMU, such that %ΔK > 0 and the %ΔL = 0.

F. Assume CMU is small.  Draw a graph depicting the consumption and production effects of growth on CMU.  What theorem determines the shape of your graph?  Does welfare improve (explain)?

G. Now assume CMU is large and it incurs immiserizing growth.   Draw a graph depicting the consumption and production effects of growth on CMU.   Does welfare improve (explain)?

5. What is the Leontief Paradox and how do differences in tastes explain it?  (5 minutes)

6.  Examine the partial equilibrium effects of a tariff for a small country (10 minutes)

A. when there are no externalities.

B. when the good produced generates positive externalities.

C. Demonstrate that a subsidy causes less welfare loss than a tariff.

7. Domestic wine per bottle costs $10. and the imported grapes to make the bottle of wine cost $6.  All other inputs are domestic.  What is the effective tariff rate on imported wine (10 minutes)

A. when a 10% tariff is imposed on imported wine?

B. when a 10% tariff is imposed on imported grapes?

C. when a 10% tariff is imposed on imported wine and grapes?
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Dr. GQ

You must do questions 1 and 2.
1. Evaluate the Clinton administration’s recent trade negotiations with China.  What are the key points of disagreement (include WTO in your discussion)?  What resolutions have been proposed?  What is the current status of the negotiations?  Who are the key players in resolving trade relations?  Is there momentum toward free trade?   What are the economic and political ramifications? Use both WSJ and articles assigned. (25 minutes)

2. Summarize and critically analyze the pro and con points of free trade. (See Henderson, Fontaine, Bhagwati and Kosters, Mussa, Krugman, McCulloch, Kenen, Will, Johnson, Riley,  etc. and WSJ articles.) (35 minutes)

You have you choice of doing question 3 or question 4.  Do not do both.
3.  What are the advantages and disadvantages (perceived or real) of trade blocks?  Reference the articles by Lash, O’Quinn, Dori, Sweeney, Equiguren, and Falcoff. (15 minutes)

4. What is the Leontief Paradox in reference to the H-O theorem?  Present and discuss three explanations (one must discuss factor intensity reversals).  Give graphical explanations where appropriate. (15 minutes)

You must do all of the remaining questions.  Be sure to explain and incorporate any relevant graphs into your answers.

5. Assume the H-O assumptions hold.  There are two large countries (SVC and CMU), two inputs (K and L), and two goods (machinery and textiles).  The machinery is capital intensive.  SVC is capital abundant. Assume trade commences between SVC and CMU.  (24 minutes)

a. Who will have the comparative advantage in machinery? Justify your answer via the H-O theorem.

b How will the commodity prices, absolute input prices, relative input prices, and the real income of labor be affected in CMU and SVC?  You need not prove or show any graphs for this question.

c. On one graph, draw SVC and CMU’s production possibility curves.  Assume that, when trade takes place, both SVC and CMU will consume identical amounts of machinery and textiles.  Examine the effect on welfare.

d. Assume that CMU experiences K growth and L remains constant.  How will CMU’s welfare be affected? Draw graph.

e. Assume CMU imposes a tariff on its import good with the goal of maximizing its welfare.  Graphically show the solution and demonstrate that the solution is not Pareto optimal. 

6.  Assume CMU is a small country, describe the partial equilibrium effects associated with a tariff on its imported good when there are positive externalities associated with production. (6 minutes)

7. Assume CMU is a large country, describe the general equilibrium effects associated with a tariff on its imported good.  Be sure to include the possibility that the Metzler paradox might occur. (15 minutes)
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1. Summarize and critically analyze the pro and con points of free trade. Be sure to include an analysis which incorporates relevant points from the various trade theories we have examined in class. (See Mussa, Krugman, and McCulloch, Peter Kenen, George Will, Bryan Riley, Mark Lagon, Paul Johnson, Douglas Irwin, William Lash, etc. and WSJ articles.) (20 minutes)

2. Evaluate the Clinton administration’s trade negotiations with China.  What are the key points of disagreement (include WTO and MFN in your discussion)?  What resolutions have been proposed?  What is the current status of the negotiations (include APEC and WTO)?  Who are the key players in resolving trade relations?  Is there momentum toward free trade?   What are the economic and political ramifications for both the U.S. and China?  Use both WSJ and articles assigned. (20 minutes)

Do either question 3 or 4, but not both.

3. Summarize the key political and economic points that relate to the S.E. Asian currency crisis. (WSJ articles and in class discussion).  What are some likely scenarios to follow?  What resolutions have been proposed and what is the U.S. and Japanese position on these resolutions? (20 minutes)

Assume for questions 4, 5, and 6, that CMU is a country that produces apples and computers, where computers are capital intensive; CMU’s PPF is bowed out (exhibits increasing relative costs); CMU is capital abundant, and the standard H-O assumptions hold.  The other country is SVC. 

4. (20 minutes)  a. Assume further that CMU is a small country. Evaluate graphically and describe the impact on welfare, income and production associated with an increase in labor with capital held constant.  b. Assume further that CMU is a small country. Evaluate graphically and describe the impact on welfare, income and production associated with an increase in capital with labor held constant.  

c. Now assume that CMU is a large country.  Evaluate graphically and describe the impact on welfare, income, TOT, and production associated with an increase in capital with labor held constant.  

5. (20 minutes) a. Based on the H-O assumptions, which good does CMU export?  

b. What trade pattern would occur if the Leontief Paradox holds?  Which two explanations of the Leontief Paradox most strongly support the H-O theory?

c. In autarky, according to Ohlin, how does CMU’s relative price of labor compare to SVC?

d. Draw CMU’s Edgeworth box–put computers in the lower left corner.  Show the contract curve and show that it is the locus of Pareto Optimal points. 

e. Given trade equates the relative price of labor for CMU to that of SVC’s, prove that the absolute real price of labor in CMU will also converge to that of SVC’s price of labor.  

6. (20 minutes) Show the necessary graphs to fully explain all requested effects.

a. Given that SVC is a small country, examine the partial equilibrium welfare effects associated with imposing a tariff on their import good given that the production of the imported good yields a positive externality. Would a subsidy have given a more desirable solution?

b. Given that CMU is a large country, using offer curves, examine the general equilibrium effects (i.e., show graphically: the welfare effect, impact on the volume of trade, impact on the TOT at home and world, what graphically represents the tariff revenue and tariff rate; describe the impact on absolute prices and the CMU production of the imported good) of an import tariff.  Assume that the tariff revenue is spent on the export good.  Also graphically show the Metzler paradox case.  For the Meltzler paradox case what is the impact on the TOT, volume of trade, and CMU production of the imported good?
